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Section Marks : 120
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Question Number : 1 Question Id : 8740817718 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

............. refers to inferring about the whole population based on the observations made
on a small part.
Ush Bic § B8 9¢ @ M5 CWUivEl & AT 9 9 AR & 97 H 566

ap

Options :

Pseudo inference

| % BH TN
Objective inference

. 28 =R

Inductive inference
s o T er=rd

Deductive inference

_ T==fEeg M=y
4, %

Question Number : 2 Question Id : 8740817719 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Ex-Post Facto research meang ........coeessensrsss
qeARIT 9N &l andd &
Options :
The research is carried out after the incident

=
2

qoAT @& ULETd 9Ny fhdr TEn B

The research is carried out prior to the incident
TeAl § TEel 9y fGEr T R

The research is carried out along with the happening of an incident
o T TpET "ear & dafed 26 & "1 fHar = B

3.
The research is carried out keeping in mind the possibilities of an incident
% e [=Hdl =TT W HAGTHAl B = H TEG 50 AT 19 E

Question Number : 3 Question Id : 8740817720 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In a survey, the respondents are interested to discuss the recent private cellular schemes,
but the surveyor asked them about BSNL landline service. What type of error will it lead
to ?
U HAE9l H, ITLC@ISA B B B H el Heere s 97 == B
T oo RE=el B, Wi d9auEdl J S99 S0EUAUs dsded |59 @
a H gsr| f6E 9 @ e BR 7

Options :
Non-response error

. T-—Aia=rg E_IFI
1.

Selection error
) = Egl_c’



Sample error

3. %

Panel error

T :l'l_rr
4. %

Question Number : 4 Question Id : 8740817721 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Total number of digits in Tippet table are :
‘fome’ anerer | T HAD B 5

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to all
candidates.

Options :
. 10,400

9,400
10,200

9,600
4,

Question Number : 5 Question Id : 8740817722 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Endogenous variable is also known as :
WTJT“HW“?‘FIT ATAT =Ald

Options :



Intervening variable

| s HEEC =Y

Mediating variable
, % HEHE] =X

Independent variable

Dependent variable

4 HANM=AT =L

Question Number : 6 Question Id : 8740817723 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rejection of hvpﬂlhws which is true leads to :

Il il HEFA Al Je &, Heanl 5
Options :

Sampling Error

15312' e

Type II Error

) ® F_..:_\:I I ?:)1‘_”“_.

Type I Error

Estimation Error

Question Number : 7 Question Id : 8740817724 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



Feature of a hypothesis is :
aftmeaqTr @1 afereg &

Options :

Testability

1 wnﬁam I FT AHAT

Insufficiency

H

[Mogical

= 5
3. %

Complication

_—
4. %

Question Number : 8 Question Id : 8740817725 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is the first step of research ?
T | | SHE-ET 90 @ 95al =510 B Y
Options :

Designing the research
FIFIE ST

1. ®

Data Collection

) % ol | HIEY

Formulation of the research problem

9T HEET AT
3.9 &

Analysis of data
ST W fgeeor

Question Number : 9 Question Id : 8740817726 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Sampling error can be reduced by :

=meel & Ffe @ FA fFam = Fwar ®

Options :

Non-probability sampling
| % TT-HEECT ASE E

Increasing the population
ST H giRE 20T

2. %

Decreasing the sample size
3 % TAIGET SHT H HAT I

Increasing the sample size
4. F‘IliﬂT HIBI ﬁ E,lj{-:n al?

Question Number : 10 Question Id : 8740817727 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Empirical research is related to :
AGHEAN AT AGHAE Hiaq 2

Options :
Pure logic

| x A= T H

Observation
) JIETOT H

Theory
FIH =1 s i:\‘l—

3. %

Critical Thinking
ATAEATHE | H

4. %



Question Number : 11 Question Id : 8740817728 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following features one considered as critical in qualitative research
OIeHE: AJEIE H = § § Hi9-91 &9 A=dedE A1 Sar 2

Options :

Woe-D
\

Collecting data with the help of standardized research tools
AT AJHEE 3TH01 & Hew | HATHST H HAET

1. ®

Design sampling with pr ‘obability admpie technique.
"‘:TH-IFC“-JHI HETT SERIEs cll '!:-'IJ-'JIQ‘I*I UTAAT AT

Collecting data with bottom of empirical evidence

, o JTEH ST EN R SE© g SRSt A IR

Gathering data with top down schematic evidence
=TT 2134 ArAAEs 9919 &1 A6l H JU80

Question Number : 12 Question Id : 8740817729 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one among the following statement is true in the context of the testing of
hypothesis ?
TVEReIAl & ST & J<d § 9 § § $E-91 F99 9 2 7

Options :

It is only the alternative hypothesis that can be tested
, I7 BT JepfeTsh afimea & 59 S s q9a&an =

It is only the null hypothesis that can be tested

, o 7B A T O & 59 SEr 51 96T &




Both the alternative and null hypothesis can be tested
, JHICaE TF T GEF B AESIAAT B SrE S OFEES 5

3.9
Both the alternative and null hypothesis can not be tested
. diedd U9 9 Sl 21 Ul &l JB1 S=El S "6l &
4.

Question Number : 13 Question Id : 8740817730 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If there is a uniform variation in the ratio of the two variable then the regression would
be :

qie & =9 & HAJIT H F§HE [@ig=ar o S, 1 SEEd BE

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to all
candidates.

Options :
Exponential
| RPN

Quadratic

Question Number : 14 Question Id : 8740817731 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Which of the following is one of the types of "validity' encountered in research design
and methodology ?
Frfaiad § § &M oTgEad fS9e- A sEuemen § 9ga g &

UHEET H H UF = 7

Options :
Statistical validity

- H=T=h T

Integral validity

, 5 T ST e

Modular validity
- Arggay J9ar

Projective validity

. TETT T

Question Number : 15 Question Id : 8740817732 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In CARE list of journals the "CARE" stands for :

CARE 91Tel UREHIAT &1 991 § "CARE" &7 fg&jd 9 2 :

Options :

Consortium of Academicians for Research Ethics

FEMCTH ATE UHafeE-a BT 9 ufeae

Consortium of Academicians for the Researchers Empowerment

FEMCTT ATF UHSHEEE BT ¢ Egdq Uaigaige

2. %

Consortium of Academic and Research Ethics

- FEllcdd HAF UhsSHE Uvs TEE Ui

Consortium of Academic and Researchers Ethics

FHIMCTH ATE UhHsaE U8 THTH O

4. %



Question Number : 16 Question Id : 8740817733 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Read the statement A and B and choose the correct option :

FI9 A AT B 1@ AF FB1 fawmeT g

Statement (A) : The structured approach to enquiry is usually classified as qualitative
research.

HAT (A) : FHIET & [0 HIET gEheT B AHAE 97 IOTHF AT
% =9 H TEipd [HF1 San 2 |

Statement (B) : In the structured approach, everything that forms the research process —
objectives, design, sample, and the questions that a researcher plans to ask of respondents
— is not predetermined.

HYF (B) : HU=T 0T H, 98 9 {HF S FAJEAH Gihar @ e
FHIAT & — 3eed, S92, 9941, ST F gs9 S UFh sUuhdal o I
T g8d @ AeET g9 B - 99 Hdia 98 el 2 |

Options :
Both the statements are true
| SEl BT 99 B

Both the statements are false

ST U 9 B
2.9

Statement A is true but B is false
FIF A 99 = @9 B T@d B

3. %

Statement B is true but A is false
i PO B €9 & T4 A TIed B

4.

Question Number : 17 Question Id : 8740817734 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
"Controlled Group" is atermused in ..............
THEIERT TWHE” e H 0gth THh 9= 3 |




Options :
Survey research
| AT ST

Historical research

) a, %Efﬂrla:'.. h Qﬁa

Experimental research
3 o U ST

Descriptive research

4 % TUETHE &TE

Question Number : 18 Question Id : 8740817735 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Read the statement and choose the correct option given below :
= e W FHHET B UG AT HE AT g

Statement (A) : A hypothesis must not be falsifiable.
HAHBAA (A) : ThHedA [HET Hiieeg F21 81 =M=y |

Reason (R) : If a hypothesis is falsifiable, then science cannot be used to test the
hypothesis,

b (R) : afc 9ftmpea=r e &, @1 aRedr & T0E9 &9 & oo &9
T ITERT F51 BT AT FhaT E |

Options :
Both the statements are true and (R) is the correct explanation of (A)
| % ST FF T 7 AT (A) W HET AVAT (R) % |

Both the statements are true but (R) is not the correct explanation of (A)
, x ST HE § E AT (A) I HE AWAT (R) TE OB

(A) is false j:lut (R) is true

(A) T[T 2 @R (R) 99 2

3. %



Both the statements are false

4\_/%:1” 1T e T 2

Question Number : 19 Question Id : 8740817736 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

To test which of the following is not used a qualitative hypothesis ?
e | | fhEw TEIEY B & faU IOmcHs GishedET W 3UEnT

A

el 5T I BT

Note: For this question, discrepancy 1s found in
question/answer. Full Marks is being awarded to all

candidates.

Options :
t-test

i =)

ANOVA
2. = Bl

Chi Square
3 TIE-TEETEY

F-test

A UH-oie

Question Number : 20 Question Id : 8740817737 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Fundamental research reflects the ability to :
qifereh e &1 &9 &l SeIl & ¢
Options :
Synthesize new ideals
| % MO SATEE T HETWor FHEAT



Expound new principles

NV L - = A IR LA A

Evaluate the existing material concerning research
, x ST HARE ASET HHIAT B G Bl

Study the existing literature regarding various topics

-

&= [Jual & S99 7 AmEer Jied #5 a9 5

Question Number : 21 Question Id : 8740817738 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In sampling technique which of the following is not a part of sampling frame ?
FHAT T H g § H A |1 9T B BT B 7

2Ll HEl B 7
Options :

a list of random numbers
qGi=ed FEAl B FHl

1.

a list of sampling units of a population
Ueh SEEEAT 1 THAT TREAl Bl F=l

a list of voters

a list of respondents only
e ILeIaiAl gl

Question Number : 22 Question Id : 8740817739 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



In a study of two variables, when the variables change their direction in opposite manner,
then this phenomenon is called :

T =TI F qm:rﬁf o9 =¥ quT e faodig 99 # g5ad 2, o 39
AT T FHET A B

Options :

Positive-Negative Correlation
HEIHE-TRLIHE Haqg9

1. ®

Negative Correlation

EAEIEE = e
) Ahl{IHE H=HdH

Fluctuating Correlation
AT HEHG

Positive Correlation
4 % SBEIHS 2T

Question Number : 23 Question Id : 8740817740 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The stem and leaf dispiw is an effective, quick and simple way of displaying a :

=N AT @ feeE THHT&riiigrt H § [H Ueisid i Us T,
= L = IR - Rt R A
Options :

Hypothesis
o

Frequency Distribution
HAGR [FT7

Research Question
ST Os=



Research Design
AP TS (ATHET)

Question Number : 24 Question Id : 8740817741 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

............... is useful to study changes of values in the variable over time.
UURUURRUUUR - o - = | = = B - e P e [ et 7 e 2 s e P B Tl L
ITIRT 2 |

Note: For this question, discrepancy 1s found in

question/answer. Full Marks is being awarded to all

candidates.
Options :

Pie diagram
Tz AT

Bar diagram
oY AT

Scatter diagram
Thed T

Line diagram

YT T

Question Number : 25 Question Id : 8740817742 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



The effect of the exposure of interest on the outcome is distorted because of the effect of
extraneous factors that are related to both the exposure and outcome. This phenomenon
is called :

U 9Y &S & SgH BT 99 96T el & 99 & BT i

2T B, S Sigd ST 9T ST | 4999 B | 29 9947 1 el Sl B

Options :
Correlation

BEGER]
1. %

Confounding

ENEE
2.¥

Recall bias
EEANIES

Measurement error

4. %

Question Number : 26 Question Id : 8740817743 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If we are doing an analytical study and the study outcome is of acute nature and rare

condition what is the appropriate study design ?
Of¢ B9 U%F FsuEuds 9499 &Y Y8 B AN JA=Ed & THenH g

[ -

Ui AT gad REfd #r 2, 9 3ugth weEd feoied = o8 v

Options :
Cohort study
| IBIE ST

Case-control study
5 @ PE-BEA T

Cross-sectional study
3 % PIE-STIATEA HEEE



Surveillance

r

4, % IO

Question Number : 27 Question Id : 8740817744 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The validity that refers to the extent to which the new questionnaire conforms to existing
ideas or hypotheses is known as :

g JEAr SN ZH HEd & = 6 e "\ 9% A2 gedrEdl  gEd
gl Ug uigerel & AgET 2, FHeanl 2 o

Options :

Content validity
e JET

1. %

Construct validity

) s [T

Face validity

| T e

Criterion validity

AFCUSE J=dr
4.

Question Number : 28 Question Id : 8740817745 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Goode & Hatt, scaling techniques :
TS AW Bl & AGHT, AJHEA fGfEET
Options :

Convert qualitative data into quantitative

| T e T il TETEE T2 H O geedl 2



Convert quantitative data into qualitative

, % MUIHTCHE d=4l &l b Rl LS 27 4 gea

Measurement of qualitative facts

. -
OMTcH= =41 Rl -SHAJHTEAH
w0 ot )

3. %
Analysis of quantitative facts
y w T T T faeeaor

Question Number : 29 Question Id : 8740817746 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A study where the investigators introduce an intervention and observe the events which
take place is called :
O AFIT Bl AGhdl ZEad I £ AT 39 TeATAl B AT HIA
Options :
Observational Study
L% PpEE DI LD e

Descriptive Study
., AUHTHSE T

Case-Control Study
3w AR H ST

Experimental Study
4 TEANHE AT

Question Number : 30 Question Id : 8740817747 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



A research problem is considered to be good, if it meets the h:sl]::rmng criteria :
LG 7} ST ETF'_-IT I T =BT T AT '% e I-—IHIUII‘CJFI OS9Si i de

T.T =h ;.x B

Options :
Fit, inconvenient, Noble, Ethnic, Revcrivmg (FINER)
|Uf""" u-H-_le’—J"-HJ‘E-ICh Hel, I!IFEI'H BIEE ]

1. %

Feasible, Interextmg, Novel, E[th"ﬂ and Relevant (FINER)

2chanq e, 9919, Jfas AT USRS

Fluctuating, Innocuous, Noticeable, Entrepreneur, Residual (FINER)
EIAd, ARNEY, =9 o4 9F49, 3P, FdiETe

3. %

Foolish, Impertect, Natural, Erratic, Revolutionary (FINER)
4% HeEamgol, AY0l, UThice, TTead, Hifcehi]

Question Number : 31 Question Id : 8740817748 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

COPE stands fr:-r
COPE #HI # =
Options :

Committee on Publication Errors

| T et a7 s

Committee on Publication Ethics

2J‘Iﬂﬁrf o9 Sfcepar 9¢ SEaf

Commuission of Potential Editors
s % SHANIT HIGH BT ATAN

Community-based Outputs for Public Education

S i1 e O o e R s £ e e )| R M EeAs



Question Number : 32 Question Id : 8740817749 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Each of the following is true about cross sectional study, EXCEPT :
FTefeiad H § Oo9 T-SANE ASEE & 9 ° "59 7, [SEe

Options :

Unable to measure incidence
ZMT&dT (incidence) T 194 H A=Y

1. %

Data are collected at multiple points in time
» T ® FE gl U S uwd A S

2.
Relatively quick and easy to conduct
3 = o= ror=a S 3 K =
s AUART Seel AT AT H OAEA

Able to measure the prevalence
4% =TT (prevalence) Tl 199 § Fe79

Question Number : 33 Question Id : 8740817750 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Standard Error is nothing but :
q=E g 7 ¢
Options :
Standard deviation of population distribution
- aigeie fgaer #1319 faEe

Dispersion Error

2% e

Standard deviation of sampling distribution

- Hee 9979 1 99 e




Conceptual Error

) - r._-"l __r-i
4. % 3

Question Number : 34 Question Id : 8740817751 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

DOI in a published research paper stands for :
Ueh USBN9IT S 9= § Elo 3o 2o & A B ¢
Options :
Directory of Index

ﬁf—l’ih["-h ﬁ I'-‘_‘|.. EFIQFH

Digital Objective Index
fefied 3gesd gadhih

Direct Object Identifiers
e J TS

Digital Object Identifier

l.". r..--l 5 3 -.:_—. T — ~ Ly
4 [shAced Hl=Adc UsHIHhAl

Question Number : 35 Question Id : 8740817752 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is a techniques used for controlling experimenter bias ?
TANTRTT IiEE B HEET w3 & fu Mefaiad 3 " -1  @A1E H

= -

START &pET ST & 7

Options :
Double eyed technique
sgul-Hlzs dh-ldh

1. =



Open eyed technique
HATA-HAZS THAIE

2. %

Double blind technique
SET-=A2S b1

3.¢

Open blind technique
HATTA-=AZE bl

Question Number : 36 Question Id : 8740817753 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Study the following graph and answer the question :

ME FH FAFIT HY 37T U H 397 2 ¢

Crime in a City

36
33

Kidnap Murder Assanlt Rape Dowry ]:Ellhﬁ

What was difference in crime between 1999 and 2000 ?
1999 1% 20007F == FIZH H fohaar 37 =7 7

Options :

L& 14



16

18

20

Question Number : 37 Question Id : 8740817754 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Study the following graph and answer the question :

TrfoaT OF =BT SA=09 hY 337 Us9 397§ ¢

Crime in a City

36
33

Kidnap Murder Assanlt Rape Dowry ]:Ellhﬁ

What was increase percent in rape from 1999 to 2000 ?
9 1999 2000F Y9 § Fhz ofaerd fmam ar 7

Options :

1.@*’“%

40%

2. %



Question Number : 38 Question Id : 8740817755 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Study the following graph and answer the following question :

rTANgT O BT 79999 e 37 U U gys9 &l 397 ¢ ¢

Students Going Abroad for Study from Different States/UTs
T~ 1991 /g 9Ed Ueel & =99 & o &esT o1+ 9 81

State/U.T. Year

1995 1996 1997 1998 1999
Maharashtra 723 840 900 920 925
Kerala 1035 940 1200 1400 1500
Karnataka 750 600 830 575 900
West Bengal 500 550 450 600 25
Delhi 1500 1625 1700 1475 1800
Andhra Pradesh 800 840 873 025 785
Total 5308 5395 5935 5895 6435

What was the percentage increase in the number of students from West Bengal from
1997 to 1998 ?

1997 & 1998 T Tie=A =¥ & BIEI FI AT H fHad giqeT & ghe 52
oq 7

Options :

..
66=
1. % 3



<
td | =

Question Number : 39 Question Id : 8740817756 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Study the following graph and answer the following question :

oS 1% &1 3599 e 1L feU U 9= H 397 < ¢

Students Going Abroad for Study from Different States/UTs

-

i~ 141/ F2 T ueet & F=ET # fou f9ter I a9t 8E

State/U.T. Year

1995 1996 1997 1998 1999
Maharashtra 723 840 900 920 925
Kerala 1035 040 1200 1400 1500
Karnataka 750 600 830 575 900
West Bengal 500 550 450 600 25
Delhi 1500 1625 1700 1475 1800
Andhra Pradesh 800 840 873 925 785
Total 5308 5395 5955 5895 6435

In the case of which State/U.T. was there a continuous increase in the number of students

over the given years 7

2723 MR o 7> Gt PO 7B | £ [ i N -l L 1| B =7 =1 = s =2 | e B | R |

.

3
=

GJH
L

Options :




Kerala

"j.r ]

Andhra Pradesh
AT 89T

Maharashtra
4.0 TR

Question Number : 40 Question Id : 8740817757 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Identify the citation style if an article is cited in the following manner Kammer, Minian.
"Breaking the bounds of Domesticity : Ecofeminism and nature space in Love's Labour's
lost" Shakeapmre Bulletin, vol. 36, no. 3, 2018, pp. 467- 481

TS BIE g g a9 § 3| fhdl T 2, O IS0 9l TEE-

FH7, MHEE | J3T § asvsd AT %lﬁw?mﬂ : ZHIBET r..',?:.r TET AH
=9 W9 oEE i SIEETET gaiicd, vol. 36, no. 3, 2018, pp. 467-483
Options :

APA

3.¢¥

Chicago
IEEAR



Subject & Area Concerned

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

874081137
2

Online
Mandatory
60

60

180

Yes

0

1
874081179
Yes

Question Number : 41 Question Id : 8740817758 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The Harappan city of Kalibangan was situated in the books of which river ?

ESHUIREN AL H/EEN 9 A6l @ @ &g o1 7

Options :
Saraswati

.

| ® HOEOdl

Vipas
2. % T

Ghaggar
3 SEL B

Pravar
4, ¢ T

Question Number : 42 Question Id : 8740817759 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Who is considered as the father of Indian Archaeology ?

=9H | fE AR Qa0 S JE1 A 7

Options :
James Princep
- = S

Alexander Cunningham
5w HATFAUST HieTH

William Jones
5 % [T AT

John Marshall

Question Number : 43 Question Id : 8740817760 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

From which inscription in Irag some Aryan names are mentioned :
U H ThE AT H fm A A $ Iwend Hodl B

Options :
Hassite

Basra
N il

Baghdad
y “FIG

Mitanni

— (s

HAAT

Question Number : 44 Question Id : 8740817761 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

The script which has not been used in the Mauryan Inscriptions is :
A Aol | T @ @ omEe JE A B, 98 B o

Options :
Aramaic

| % FHIHD

Greek

Devanagari

.‘_‘/ U:rq; l .

Kharosthi

Question Number : 45 Question Id : 8740817762 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who was the first ruler of the Sunga Dynasty ?
BT 99T H WLH AES HiA A 7
Options :
Pushyamitra

T—W =
w o

l.

Vasumitra

T

2. & o

Agnimitra

3 % HEATHA

Devabhuti
4 i?—ﬁj o

Question Number : 46 Question Id : 8740817763 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
What is the language of pliny's original work the natural history ?
=1 1 g1 i "geel Bl e 9 § =g 5 7

Options :
English

.

1.¢

Latin

o e

French

4 % B

Question Number : 47 Question Id : 8740817764 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The earliest Tamil Grammar work is :

qJ9H UEel dH@ AL P DA BT

Options :
Shilapadigaram
[EUSELIERIIRE:

Manime galai

—
Cr

2. % e

Vyakarangalai

- =5

3.0% TR

N ]

Tolkappiyam

4. 2T

Question Number : 48 Question Id : 8740817765 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The first Gupta Ruler who took the title of Maharajadhiraj was :
T AT 991 & T S AR #5139 o
Options :

Samudra Gupta

Kumara Gupta

.
%

2.¢

Chandra Gupta I
;% TEI TR

Chandra Gupta 11
ER-NARESIE

4. %

Question Number : 49 Question Id : 8740817766 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The earliest mention of medicine is in the :
AT T Feolg J99 TR AN Hodr 5 7

Options :
Atharva Veda

| Y

| % FTETS

Charak Sambhita
, o = A

Yajurveda

Tode

3.8 73

Sushruta Sambhita
ggd Hiedn



Question Number : 50 Question Id : 8740817767 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The model of segmentary state for the Chola state was given by :
I T & A0 TS AT A Hiaded e BREr 7

Options :
Nilkantha Shastri
| @ TAEOT AME

Burton Stein

) % o A

D. H. Kulke
3 % glo T=o @D

Sanjay Subrahmanyam

4. #® SRR SEEREEL

Question Number : 51 Question Id : 8740817768 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which Sultan brought the power of Chanalgani to end ?

[hd g | =EarT FHED @ 9T B FqHT A 7

Options :
Qutubuddin Aibak
HIIE UFH

1.¢

Itutmish

5w SegOHe
Balban

Raziya
-.-Fl : E



Question Number : 52 Question Id : 8740817769 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which medieval saints teachings are edited as Abhanga ?
TFH AEeE Jd & 298] FHIT H HHad & ¢
Options :

Tukaram

Namadeva

:r

Question Number : 53 Question Id : 8740817770 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the following was birth place of Shaikh Nizamuddin Auliya ?
M= ® & #F vg FegEE AferEr @ e = oar v

Options :
Ajmer
| FHAHT

Multan
2 F=4 '_,'(”
Delhi
3 % ool !

Badaun

g % T



Question Number : 54 Question Id : 8740817771 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Among the following Kingdoms of Medieval India which one was founded earliest ?

AR IE I R G &t I M s 71 M s = 1 M o M [ e e

Options :
Bahmani

& %

Vijaynagar
e :

Jaunpur
3. % TR

o |

Question Number : 55 Question Id : 8740817772 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Who wrote 'The Agrarian System of Moslem India’ ?
Options :
[rfan Habib

Satish Chandra
5 % qHA19T Iv=

W. H. Moreland

3 % S=go UHo H[ITUS



Muhammad Habib

4o TFIEE

Question Number : 56 Question Id : 8740817773 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who preuded over the first session of Indian National Congress ?
WWWT T ATIGe™ @ hEs Temerar @i 7
Options :

W. C. Banerjee

g=go Hio 51

A. O. Hume
. Uo o =H

S. N. Banerjee
UHo UFc F=AT

Dadabhai Naoroji
SIGTATS A=

Question Number : 57 Question Id : 8740817774 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Precepts of Jesus was written by which reformer ?
JHTH HE SE9 HE gurs A foan o1 7

Options :
Annie Besant
, % TSR
H. S. Olcot

Z.JUE{OUF:TGHWTIT‘I



Raja Ram Mohan Roy
5 % WO TH HES TE

David Hare

o -
4 % sHs BT

Question Number : 58 Question Id : 8740817775 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The draft of Pakistan resolution for year 1940 Lahore session of the Muslim League was
prepared by ?
PR TET & 1940 H TR AN H Ulhe & 9Ed B 9rEd e
AT o7 ¢
Options :
Sikandar Hayat Khan

KhaliQuzman

5 % GRITGSTH

Mohd. Ali Jinnah

H. S. Suharwardi

4.

Question Number : 59 Question Id : 8740817776 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What was most obvious expression of imperialism ?
AETEAG H TN AT Ria=Aiaa 41 97 7

Options :
Superior Technology



Colonies

) % ERIEEE]

Communication technology
y % G=T O

Cultural supremacy

o TPl Fate=l

Question Number : 60 Question Id : 8740817777 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

During second world war who said, "I have not become the king's first minister to
preside over the liquidation of the British empire".

= T fafeer 9@Emeg & FA99 FH FHFAT HE

Options :
Clement Atlee

i The -
FolHC oo

1.¢

Benjamin Disraeli
5 % TNAA ST

Ramsay McDonald
w THA HEHSMEES

3.

Winston Churchill
Ta=Te" I

4. %

Question Number : 61 Question Id : 8740817778 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
"Physiocrats” were :
M= | | R @ ® “Tefaaebea” Fa1 S oo 7




Options :
French Economist

Russian Proletarians
L% ';:|’ LEEELES

German Nazis

Dutch Physicists

4. &

Question Number : 62 Question Id : 8740817779 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Permanent Revolution was propounded by :
THME Rawe (T Fiid) B RTIRON fEE Siadied @ oo 7

Options :
Engels

Lenin

5 w T

Trotsky
oIl

Marx

Question Number : 63 Question Id : 8740817780 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



What among the following is not conformity with sustainable development ?
o e 351 Hg9Ren | e H#OH FE HGh9iaa a8 B 7
Options :

Organic Farming

1 u : ﬁu— - = E_\ i

Environmentalism
-
2.9
Infinite Development
® aq IE-. r';q':h E.

3
Gandhism
4 % TTETETE

Question Number : 64 Question Id : 8740817781 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

John Rawl's theory of Justice is not related to :

9 o9 1 = Fera W= °5 9 TEE H1T1s

I)

L

Options :
Pure Procedural Justice

9l WichdTcHsh 19
LY

Veil of Ignorance

) % HEA =B T&T

Equal Liberty

3 % T EEC

Entitlement Theory
HIRITAT & s

4, %

Question Number : 65 Question Id : 8740817782 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Among the following who supports the idea of "Forced Freedom" ?
M= H A e gena |mamar @ S giodied @A 7

Options :
John Locke

Rousseau

2.9 0

Thomas Hobbes

3‘33‘95{114'-!:[??7?9

Machiavelli

= -~
R e o
b

4. % ’

Question Number : 66 Question Id : 8740817783 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Political Theory is not related to :
AN T & J999 787 &

Options :
Conceptual clarification of Idea
. e w1 Fmi we |

Providing models of behaviour

5 o FIET T ITTHT T TeIEH0T

Rationalization of political propaganda
I [Adsian T Aol

Exploration of political ideologies
4w YT ST/ ETETS T A AheEheol

Question Number : 67 Question Id : 8740817784 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Wlm defined democracy as the "Government of the people, by the pe::rple for the people” ?

“FEdT W, FA9T & ST, JA99T & [0 M9 B dHad” - 98 Uidges Siad
Esca i
Options :
Mahatma Gandhi
| T e

Abraham Lincoln
5w FETEA T

Woodrow

Harold Laski

=
5iles Tilih

Question Number : 68 Question Id : 8740817785 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who wrote the book "Republic” ?
ufds 35S s’ @ =1 e @

@
:

Options :
Bodin

[

Locke

o 12

2. %

Plato

% <icl

Cicero

. =

4.«
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who is known as the 'Father of Political Science' 7

‘IS [GeT= &7 oar &5 Fea E 7

Options :

Karl Marx

Aristotle
) ® HIE

=

Austin
FHiveT

Plato

7

4. -
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Who was the author of the book 'The Economic History of India' ?

‘T TMEIHS BED AT SvsEr gE & ovE® @i o 7

Options :
R. P. Dutt

% Ao Yo &

Romesh Chandra Dutt

) THET 9=

Dadabhai Nauroji
3 % STRTHTE ST



Justice M. D. Ranade

L% ANTH THo Elo IS
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In Marxist thmlght the concept of hegemony is associated with :
HAEHAET T § TEE B ATIRON H FS B diadried A ¢

Options :
Gramsci

1.¢

)

Lenin
4. % ©
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The Book 'The German Ideology’ was written by :
‘T WHA AFSACHA] AHD UEm GEIE B T o

Options :
Lenin

TN e

i,.'\r' |qﬂ

Karl Marx and Friedrich Engels
FHIe ATFT AT Hsiish Uied

2.¢



Karl Marx

Friedrich Engels

RFATE AR s

4. %
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which one is third and important organ of the government ?

= H | FET #IERE @ e AR #stgge HT B 7

Options :
Legislature

A =

T |-_, i Tq;l
b Y W

Executive

=rs o=
o .

2.% ° =

Judiciary

L e .

T =

Media

4, HIISH
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

According to Bodin, the limits to sovereign authority are :

el & AJEN, HUY AR & H9L FEEer M OH EEE s e M@\

BT

Options :
Customary Laws

| % PRI IR



Constitutional Laws
5 o e

Municipal Laws
;& T I EANEIE]
Legislative Acts
EEIEEANEEN L

4, %
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The Sixth 'Five Year Plan' gave the status of partners in development to :

Bel J9a9E AEE & e " " e Swoaas @ fawe @ "@sann @i

Options :

Urban Youths

3 % IR “:Jj—ﬂ

Women

4. % =€
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who among the following can establish an Inter-State Council ?
M= H " s g SFa-iEE 9ige @ e A A 57

Options :



President
. I.-{ q-l E

Supreme court

Prime minister
AT

Parliament
E } . o,
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

For what period does the Vice President of India hold office ?

I & IT-ICAfT =l HIAHA Bl & 7

Options :
5 years

1_.-,/56413[

Till the age of 65 years
65 a9 FH HAY TH

6 years
6 a9

2 years
2 a9
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Which of the following appointments is nof made by the President of India ?
AR & WAl & A e H H e FgEa 78T @ S 7

Options :
Chief of the Army

| x ST

Speaker of the Lok Sabha

) @ TTHEE & A

Chief Justice of India
A= =AEd & e e

3. %

Chief of the Air Force
% JIHAT & FATH

p ]
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In case a President dies while in office, the vice President can act as President for a
maximum period of :

AT & WA & WEE @ 9EREfa |5, 9d @ SUIredia ATgEad o
HAT T 3AE s 9T BE HE GG 5 ¢
Options :

1 years
L 1T

3 months
w 3 AE

6 months
3 6 HAE

years
a9

2
%
4. % <

Question Number : 80 Question Id : 8740817797 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
How many Fundamentals Rights have been provided by the Constitution of India at
present ?
IAE JAGTE & ST o 9T & Ao AR S 95 EAr aod e H
Options :

Eight
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who has associated crime with anomie ?
HII Pl FAHET F Thaq gaiaa a5 7

Options :
Sutherland
1‘ ® E a ~U ].3

Lombroso



Gillin & Gillin
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

White- collar crime is committed for :

LTI HIIY fHAr S F
Options :
Social gains

1. %
Economic gains
R d ?rTI'f’i]r?ﬁ ) "‘J% ::I'\j rllif [._a
Revenge
M= G el
3. %

Political gains
4 H ;l_ .T'|T‘|-n'.'_—" £ ":" ,:h [F-' qui :__,*\T—, -Fli,ir __].‘
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Kinship by nature is :

el AHi BRI B
Options :
always specific
2=t I I
| EHE TEIETC
always unspecific

2$3€ﬁﬂrﬂﬁﬁWf



never specific

HET Aferss A=

in some case specific, while others not
TE HETl H AT, @E J A9
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Youth rebellion is an example of ......... Culture.
gq1 [EEE ..., I T ISEI E |

Options :
Adaptive

Societal

_— HTHI FEhid

Counter
, Tl wwpta

Revolutionary

FITADT F3hid
iy 3
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which among the following is nof right for Sociological Imagination ?

AT T Hed T & o0 39H H 997 951 78f & ¢
Options :



The concept was given by C. Wright Mills

=, =.

IE AT dlo Ec Hod A & &

The impact of individual forces on social life
o w TS SET T¥ TEETs Al B A9

The awareness of relationship between personal experience and the wider society
y o AT AFHT AR TEE FAS H A FLA A ARTEEA
The ability to see things socially
TEJAT BN HAANAD AL TT ST B BT
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following is not a characteristic of the social facts ?
Options :
Coercive nature

SHAHHET AP

External to the individual
5 AT H aEa

Properties of social life
HHISE STaq =l IO

Internal to the individual
4% =g & s Siga § Sareda
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



What is correct for functional integration ?
JepTdicHeh USHieh<oT & g =41 §8T & 7

Options :
In functionally integrated systems, there can be no element of disintegration
U S TY H UHidd A9l H [G9ed % o A81 B

1. %

Functionally integrated systems do not have any dysfunctions
TEHEAE BT H U gl § SAYEEcHE awd A8l B

2. %

In functionally integrated systems, parts are interdependent
OEHETES T H UdEd Al & e HaH B 8

3. %

All of the three
| o T E
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following is a role, not an act ?
ot 5 | 791 oF 9fF e &, @E T8t ¢
Options :

Eating
| w A HTAT

Dancing in one's bedroom in front of a mirror
, x FIH UENEHA H HET & OHAA TH HE

Posting one's dance videos on WhatsApp
To fight for one's rights
4 % HIH AR & T S
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Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which among the following is not associated with neo-functionalism ?
THH H B A9-UEEEe § Sdiad 987 s 7
Options :
Paul Colomy

. N Y -

v JieT =hiTlTH

1.
Jefferey C. Alexander
, % T Hlo mEEEsT
Pierre Bourdieu
3 . e -\- —, :brT
Niklas Luhmann
4w BT TEHA
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The AGIL model was developed :
Options :

During a play in small groups

UF BIC H9F H @A & eNH

1. %

During an experiment on leadership in small groups

2¢Uﬁﬁr§f& F9E H 9™ 97 UFH 9AR & el

During an interaction with leaders of small groups
Bic JHEl & AdiAl & A1 UH FEhar &

3. %

None of the three

4 % O H H BT AARI
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Althusser's 1nterpretatmn of Marxism has often been labelled as :
UegHY & HEFHAG @ ANAl Bl AFHL oG hAr Sl B o

Options :

Structural interpretation of Marxism
A &1 HIEAHE AREA

1. ®

Orthodox Marxism

2 gg Hli—lsr_ [s - \r

Humanistic socialism

3 % HEIAEGS] FAHEIS

Economic determinism

4.
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following is a salient feature of Indological approach ?
SSIAEa Greemlol H 399 H F9T UH Jsad9] [9em8dr & 7
Options :

Emphasis on understanding Indian society

HAEAE A ®H FHSA T Td e

1. ®
Emphasis on providing solutions to the problems in Indian society
o % T FA & OFEEA o FAEN I aT S

Western social values and culture can explain social phenomena in Indian society
HEAE JATA Bl AENAH TeATAl & AR Ge=HT JEAs Jedl ud




None of the three

| o T E F A
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The responsibility of the deviant behaviour lies at the doors of the society. Who
subscribes to this opinion ?
MEaa®He] =FEE & Sidad JH1 97 Bl 5 | Heangd § " @ 39
Options :

Merton

HeA

1. ®

Durkheim

-
=

2.3

Parsons

3% 0

Weber

4, % A

Question Number : 94 Question Id : 8740817811 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Secondary groups represent "cold world ". Who subscribe to the opinion ?
TEda® |95 “@uel g’ @ gl ®ed 5| = § § @B 39 9=

Options :
Landis

1. %



Cooley
2. % i

K. Davis
3 % Fo =T

Johnson

4 o ST
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

"We are members of associations, not institutions". On the basis of this sentence, which
iS an association ?
q B U HEN R T
Options :
Trade unions

| SR T

University

Both Trade unions and University

|« O =R F9 od faeafaee

MNone of the three
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



Being an Indian, 1 compare Western culture with Indian culture and find that Western
culture is inferior, How would you describe the feeling ?

Ush AAE BF & A 99 H ARdE ug aie=gH i §Epiadl @i g S/
FIAT £ Al g3 @ & 9fREE @9pa e 51 39 AE T & AT 59

2

afofe ¥ 7

Options :
Ethnocentrism

TSTd-h il
1. %

Cultural relativism

) % HEpaE ATET

Xenocentrism

3 AN -Hhlashdl

None of the three

| T F o
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following is not true ?
TH H =T ARl 81 £ 7
Options :
Values are the basis of norms
— - sr — -\‘ ! o =,
* ﬂ\:l HAGET HEH = HET =

1.
In comparison to norms, values are more general and abstract
, w SGE EE @ gen §, qed siew e ud s A E

In comparison to values, norms are more general and abstract
3. % qedl H gorl H AR M A " U FJHd B 5

All values are norms but all norms are not values
T god Al FEH BiG 9] @9 AeRiEE g9 981 8

4. ¥
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of these perspectives do nof give importance to "meaning” in understanding the
social world ?
THH | BE-ET GUEn FAEAS gl Bl FqHsE H
I
Options :

Phenomenology

THCATES

Pt

" Er?f He™d 33?

1. ®

Ethnomethodology
g, o TG

Symbolic interactionism
3 i '-ﬁ:iﬁ}q ":IIE

Functionalism
4% PEAD Y
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Phenomenology is the study of :
TTeAEe T 5o

Options :

Bracketed out or the external world
Shcs HATIC AT TH Giedr =@

Bracketed in or the consciousness
FTos =4 HAUT =FTAT &

Both Bracketed out or the external world and Bracketed in or the consciousness
v Sl Shes ATIC AT B4 VAT A AT SHes 59 AL == @

3.



None of the three

4 % aldl H H =hiz A1
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Industrial societies are characterized by :
AFNNEER 9= & [Fedar &
Options :

Gesellschaft

Gemeinschaft

) IMMHARMYC

Both Gesellschaft and Gemeinschaft
3 % G IEwENrE UF I

MNone of the three
4 % ST " 9 ®iE A8



